1. 1 1442 2 4

4 X = acos’ t
3 4as. L

y =asin’t
=4/C0S 26 cosé
4 242, L X
y =+/C0s28sind
5 2?”(3a2+47z2b2)x/a2+b2 6 1632

143

7 —md. L xy+yz+zx:%[(x+y+z)2—(x2+y2+22)]

2 2 2
2 a>hb 2b2+2a—barcsin a’ b

Va? -b? a
2a’h In b++/b? —a?
Vb* -a? a

a<b 2b%+

a=b 4a’

5 3
3 1 —”2{(1+a4)21}

3a

2 8/3m’. S = [[dS = [[2dxdy
S D

D= {(X, y)‘(xz —xy+y?)+2a(x + y)SZaZ} {);:j:ll 2(()15\)//)) _»

S = [[2dxdy = [[4dudv D'= {(u,v)‘(u +2a)? +3v? < 6a2}
D D'
3 (2-+2)m?

4 2a? S=([——2 _dzdx D={zx)-x<z<x0<x<a
jD'[\/az—x2 { | }
20-37 2 5 pr24p

9

4 1 -m® 2 %(1+\/§)7r 3 %ﬁa“ 4 2zarctan
a

5



5 13 a4, ”xzdS:HyzdS:szdS:l”(x2+y2+zz)d8
9 z z z 3 z

g 1964744 [x*ds =0 [[y’ds = 2 ([0 + y?)as
15 3 5 2

[[zds :%jj(x2 +y?)ds

7 z?(avl+a? +In(a++v1+a?))

4 2
5 R=—-a, S, =—m". by 0,0,a by
3 max = oo (0.0,a)
R2
x2+y?+z%=a? z=a—R* - (x* +y?) x2+y2£R2(1—4—2
a

S =27zR2(1—3)
2a

1243 +2 506 — 4513
° 5 002 )
0 b<a
7 b F=142Ga’
2 b>a
Z:{(x, Y, z)‘x2 +y%+12° =a2} (0,0,b)
- X =asingcosé
F={] (b-2) -dS y =asingsiné
" Ix2+y2 +(z-0)?]? Z=acosgp
— 2 1
F =j02”dej(f G(b-acosp)a sm(g de t2 =a? +b? —2abcos ¢
(a® +b? — 2abcos g)?
X=X, +R&
8 R? §2u+0”2u+0”2u y—y0+R77
Y 2 2 2 ' = Yo
6 ox° oJy° oz (Xo.¥o.20) 722, +Rg
1 * 2 2 2
T(R) =EHU(X0 +R&, ¥ + R, 25 + Rg)dS = {(i,n,g)\é +n°+¢ =1}-
o

J]dS = [[nds = [[cds =0 [[£nds = [[nsds = [[¢ s =0



ngds =and8 :ngds :%II(§2+n2+g2)dS T'(0)=0

. 1,70 J%u Al
T (0):§(é’xz +0”y2 + 72

(X0.Y0,20)

9 gﬂ' p(X,Y,z) XX +yY +2z2Z =2

X =/2singpcosd
2 y:\/?singosine

pXy,z) =
X2 +y? +47° 2= cosg

\/xz +y2+4z7° :\/ZSin2¢+4COSZ(0 JEG - F? =sin(p\/25in2go+4cosz(p

[t —ds=>x

s p(X,Y,2)
10. Xyz — X'y'z'- Z'
1
1 abo 5 ds 5
va® +b? +c?
(X, Y,2) (x',y',z") ax+by+cz=+a’+b%+c?z

[l f(ax+by +c2)ds =[], f(Va® +b® +¢*2')dS

X'=singpcosd y'=sinpsingd z'=cose

11 100 . t V(t) S(t)
1 13 dv 9 dh 13
V(t)==zh3(@t) S(t)==—rh’(t — == 5t a2
®) 4 ®) ® 12 ® dt 10 ® dt 10
h(0) =130 h(100) =0
2
1.1 2 2 ¥ 3 -2rx
15
4 a=e’ I =—%(7+e4) a=ge” | :%(1—e‘4)




5 13
6 —+2ra’. Z=a-X

[ydx +zdy + xdz = [(y—x)dx + (a—x)dy L L xy
L

Xy
Ly

2x% +y? =a?
7 2z(cosa—sina). y =xtana

j(y—z)dx+(z—x)dy+(x y)dz = (1-tana) [ xdz — zdx L, L

LZX

72 +x%sec’a =1

8z
2 L <7
3 _8
15

4. 1 24h°

2 %abc2 . ) (cose, cos f3,c0s y)

_ _ cos g c’y
dzdx = cos £ dS dxdy = cos y dS dzdx = —=—dxdy = —=dxdy
cosy b?z
x* y?
”yzdzdx_ H y2dxdy = H 2 yzdxdy =(x, y)—2 b—2_1
X =Cc0sé
3 0. > y=singd 0<60<27,0<z<4
z2=12
4 _6_:7[_ )y (cosa,cos S,cosy)
cosa

dydz =cosadS  dxdy =cosydS dydz = o dxdy 2xdxdy
[[zxdydz = [[2x*zdxdy = - [[2x*(4-x* - yz)dxdy D= {(x, y)‘x2 +y? 31}
z z D

5 2 6 _ani(h?+10). [[x?dydz=0 [[ydzdx=0

z z

7 27e2(J2-1)



8 4—”(azb2 +b%c? +c?a?)
abc

9 %”(a+b+c)R3

3
1.1 - 5 0 30 4 ety 5 8 6 iDath-Zad
3 5 2 2
7 x. I = [P(x, y)dx+Q(x, y)dy 6Q(x,y)_6P(x,y)=0
L OX oy
4x% +y? =1 x:%cost,y:sint,t:0—>2ﬂ
8 r. | = [P(x, y)dx + Q(x, y)dy Qxy) PXY) _,
L OX oy
x> +4y? =1 x:cost,yzésint,t:0—>2ﬂ
9 2z. | = [P(x,y)dx +Q(x, y)dy Qy)_PXY) _g
L OX oy
L, x?+y?=r? X=rcost,y=rsint, t:0—> 27
| = jOZ”e""S‘ cos(rsint)dt r—0 | =27
2 1 3m2 2 1z 3 3
8 6
3 1.0 2 [[p®)-e®Wt 3 9

4 x*siny+y?sinx
5 %In(x2 +y?)

6 Q(x,y)=x>+2y-1

oyt +y?)H] oot + vy’
oy B X

9. 1 3a* 2 1 3 —%ﬂh“ 4 2R 5 2D 6 -

7 A=-1

7 3t :deydz+i(a+ z)2 dxdy
2 > a



6( 2 2
8 (i) 4r. r=yx%+y?+22 =
X

y z
0 =% 0 —
[r3j_r2—3y2 (r3j_r2—322

X =¢&singcoséd
y=¢esingpsingd (p,0)eD'={0<p<7,0<6<2x}
Z=¢£C0SQ

>'={(x,V, z)‘x2 +y?+22 =%}

3 3

” xdydz + ydrzdx + zdxdy _ ” xdydz + ydrzdx + zdxdy _ ”sin odpdd
5 .

(ii) 27 .

>'={(X,Y, z)|(x 162)2 LU ;1)2 <1,z=0}-{(x.y, z)‘x2 +y?<eg?,2=0}

T'={(xy, 2K +y? +2% = 27,22 0} o

X =¢&singcosfd
y=¢singsingd (p,0)eD"={0<¢p< £O<0£27z}

2
Z=¢£C0SQ
xdydz + ydzdx + zdxdy xdydz + ydzdx + zdxdy
Il 3 =0 Il 3 =
pIRB I8 r by r
xdydz + ydzdx + zdxdy .
= ||sin 0
I = [Jsin gdgd

11 1 0 2 0
12 1 —3m® 2 2r 3 -2ma(a+h) 4 —% 5 %h3 6 —96

13 f(y)d ——d = f dxd f ———)dxd
{x (y)dy fog " IDI( (y)+ f())xy H( (x) + ())xy
u=xy
14 | F(xy) dy = [[ f (xy)dxdy Ly
o Y D V_;

15 n=(cosa,cos g,cosy) [=(ab,c) costnD) =ﬁ=



acosa +bcos f + ccosy [[cosedS = [[dydz =0  [[cos AdS = [[dzdx =0
3 b z x

va? +b? +¢?

[[cosydS = [[dxdy =0

z z
r-n
16 n=(cosa,cos g,cosy) r=(x,y,2) cos(r,n) :W:
XCOSa + Yy COS 5+ ZCOSy
X2 +y?+2°

. dx dy dz

18 EJ cosa €os B cosy| = [[cosadydz + cos Adzdx + cos yxdy =
L z
X y 4

[[(cos? &+ cos® B+cos? y)dS =S
z

4
1. 1 0 2 (siny—cosx)dxady 3 (x+6)dxadyadz
2 0
3 0
4 o =—(ag(y)dy)dx - ([a,(2)dz)dy - (a,(x)dx)dz

5

3

1. 1 gradf =—(xX*+y%+22) 2 (Xi + yjf + zk)

3
div(fa) = —(x* +y? +z2) 2 (3x+ 20y —152)

2 gradf =2x#+2yj +2zk
div(fa) =6x+40y —30z2)
3 gradf =2(x® +y% + 227t (Xd + yf + k)

div(fa) = (x> + y? +z2) ™ (6x + 40y — 30z)

3 1 f(r)=c™ 2 f(r)=crit+c,



3c

4
2c-r
5 1 0 2 -2«
6 rotr(M)=—-i-3j+4k) r M n %
8 rotE=0 (xv,2)=0
10 U(x,y):%(x3+y3+23)—2xyz+c
11 V(x,y)=-U(x,y) = —%In(x2 +y?)—arctany +C
X
12 V(x,y)=-U(x,y) =—xyz(x+y+2)+C
ou ou ou ou ou
14 — =—=cos(n, X) + —cos(n, y) = —cos ———cos(T X
anax()ay(y)a(_ry)ay“)
jau I_d ——d
con cO
15 A(FP) =
PF P [(uv, —vu,)® + (uv, —vu,)?T+ p(p —DF **[(uu, +w,)? + (uu, +w,)?]
16 [[[ Vg - Fdxdydz = [[[V - (gF)dxdydz — [[[ gV - Fdxdydz
B B B
= [[gF-dS —[[[ gV - Fdxdydz
oB B
ou o%u  d%u
17 0= —u—dx+u—d = ||| (= Ziu(E—+—
aID ox ”{( '+ (8x2 8y2)}
ou ou
18 1 H S = H[—cos(n x)+5cos(n y)+gcos(n 2)]dS
= —dydz +—dzdx +—dxdy
Lo
r-n cos(r n) 1aou
2 cos(r,n)=—— —=(gradu)-n dsS =
(r.n) r 8n (© ) ”( ranj
— —yo)u+r?u
i”dedz+dedx+Rdxdy P:(X XO)l;HuX Q=(y YoJu+ Ty
4 r r3
_ 2
R (ZZZou* Iy, PR, R_, (%or Yor Zo) 5>0
rs ox oy oz
S, S, O n S, s S,
Gauss
”( cos(r n) 1aujd8—iﬂ(u COS(E’n)+E8—U}dS
ron 4r g, r ron

r=0 cos(r,n) =1 ”—dS 0 5—0



